MAT 099
Solutions

Basic Skills Quiz Solutions

Finish each of the following statements. You need to provide examples to accompany these.

1. (a—b)* =a®-2ab+b?
2. (a+b)®> =a’+2ab+b’

3. (a-b)(a+b)=a*-b?

4, a’a" =a
5. (ab)’ =a‘b°
6. a’°:iC
a

7. 1_C =a’

a
8. (ab)" =a‘b°
9. [2] =&

b b*

b b-c
10.a—c:a1 or iL_b
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b\& be
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13. a° =1

14, Yx™ =xr

15. The discriminant for ax®> +bx+c¢ =0 is
b? —4ac

16. If ax?> +bx+c =0, then

‘o —b++/b? —4ac

2a

17. X3+ y° = (x+ Y)(X* = xy + y?)

18. X} —y® = (x = y)(X* + xy + y?)

19. a®* —b* =(a—b)(a+h)



